Quiz #2 Math 290

Name: KEY
3/18/2021
Show all your work clearly. No Work, No Credit.
1. Solve the following differential equations: (25 pts
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e) (X+yey/x)dx_xey/xdy =0, y(1)=0
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2. Suppose there is a new kind of savings certificate that starts out paying 3% annual interest and increases
the interest rate by 1% each additional year that the money is left on deposit. (Assume that interest is
compounded continuously and that the interest rate increases continuously.) (10pts)

a) Write a DE forfj—B, where B(t)is the balance at time t.
t

b) Solve the equation that you found in part (a), assuming an initial deposit of $1000. And then find
the balance of the account after 10 years.
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3. Solve the following DE: (15 pts)

a) 15y"-7y'-2y=0; y(0)=2;y'(0)=—1
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